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- EfEHA =2 7 U — MR
D16 = 112,398
DI3 = 18,340

108, 720 kg/f& AT
18, 400 kg/fiHT
127, 120 kg/f& AT

S SRS = 7 U — N RRAETE

D16 = 476 = 476 kg/tEPT
D13 = 88 = 88 kg/thipr
564 kg/ & T
- FETERR

D16 = 1,678 = 1, 618 kg/t& T
DI3 = 276 = 276 kg/ T
1894 kg/t& T

<0 OFRR
A = 378 = 378 kg/ & T
R = = 0 kg/ &P

4) TTA hm— b - HAEK

a. 774 53—k ¥1.5L(kg)/m”

- LR W= ( 10181.328 + 161.720 ) X 1.5 = 15514. 6 ke/fEFT
b. B AR
- AR BB (L= 0.100 m)
A= = 0.613 m*/m
EHEEEAMR (t= 0.100 m)
= = 0.613 m%/m

L = 10181.328 m/ 100.0 m X 50.0 m

5090. 7 m/f& T

6) FELT - HEREL

= Bch vask i
V= {0.231 X 925.000 + 0.231 X 291.000 + 1.170 X 1.000
+ ( 1.170 + 0.226 ) / 2 X 10.000 + 0.226 X 15.000

4+ 0.231 X 26.000} / 1268.000 = 0.235 m®/m
AR B w1
V= { 0.231 X 925.000 + 0.231 X 291.000 + 1.170 X 1.000
+ ( 1.170 + 0.226 ) / 2 X 10.000 + 0.226 X 15.000
+ 0.231 X 26.000} / 1268.000 = 0.235 m*/m
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No. 10 + 1.00 ~ 11 + 8.00(DIlla-S 27.000 26. 200 26. 200 26. 200 26. 200 1 1
No. 11 + 8.00~ 13 + 12.00(DI-b-S| 44.000 43. 200 43. 200 43. 200 43. 200 1 1
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No. 14 + 16.00 ~ 17 + 10.00(CI-b 54. 000 53. 200 53. 200 53.200 53. 200 1 1
No. 17 + 10.00 ~ 21 + 8.00({DI-b 78. 000 77.200 77.200 77.200 77.200 1 1
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#EHI(F) : 0.060m2 #841(F) : 0.060m2
X1 %2
= 0.167 X 0.800 + 0.060 X 0.900 ¥ HIl = 0.167 X 0.800 + 0.060 X 0.900
0.188 m/f&AT = 0.188 ni/féfT
*3 *1
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A= 0.100 X 2 X 10.000

iv) #E/L# /v (1:3BB)
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v) B#iE,L %/ (1:3BB)
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0.031

0. 008

m/10m

m/10m

m/10m

m/10m



5) fEoK

(10%E T4 V)

65

170 65

240

572

100

50]

250

RO )= WA vF
T-25

162. 5

A
-
0
578.5

j
foo

HELZNL

1:3BB

100 1 150

100

150

300 50| HyLavsu—+r

18-8-40BB

400

i) EEM (L= 800)

N =

10 f/108&FT

250

401

i) L= U — K (18-8-40BB)

50000 50000
100 oo 100
2
&
2 V7 7 g
? | e
-+
& / o A 7 7 7 9
= Vi = .
Y & \ ~1
8 7ot 7 7 P 8
£ // V/ = // /
BLavsy—t X—m—mf“”"’
18-3-4088
50 120 560 120 50

V = 0.400 X 0.900 X 0.100 X 10

i) ¥
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